## Nonhomogeneous equations and the method of variation of parameters

$$L[y] = y'' + p(t)y' + q(t)y = g(t)$$
 (1)

$$L[y] = y'' + p(t)y' + q(t)y = g(t)$$
 (1)

The associated homogeneous equation is

$$L[y] = y'' + p(t)y' + q(t)y = g(t)$$
 (1)

The associated homogeneous equation is

$$L[y] = y'' + p(t)y' + q(t)y = 0$$
 (2)

$$L[y] = y'' + p(t)y' + q(t)y = g(t)$$
 (1)

The associated homogeneous equation is

$$L[y] = y'' + p(t)y' + q(t)y = 0$$
 (2)

The method of variation of parameters, due to Lagrange, applies much more generally than the method of undetermined coefficients studied in §3.6,

$$L[y] = y'' + p(t)y' + q(t)y = g(t)$$
 (1)

The associated homogeneous equation is

$$L[y] = y'' + p(t)y' + q(t)y = 0$$
 (2)

The method of variation of parameters, due to Lagrange, applies much more generally than the method of undetermined coefficients studied in §3.6, but most often requires more work.

$$L[y] = y'' + p(t)y' + q(t)y = g(t)$$
 (1)

The associated homogeneous equation is

$$L[y] = y'' + p(t)y' + q(t)y = 0$$
 (2)

The method of variation of parameters, due to Lagrange, applies much more generally than the method of undetermined coefficients studied in §3.6, but most often requires more work. It is not restricted to special forms of g.

$$L[y] = y'' + p(t)y' + q(t)y = g(t)$$
 (3)

$$L[y] = y'' + p(t)y' + q(t)y = 0$$
 (4)

$$L[y] = y'' + p(t)y' + q(t)y = g(t)$$
 (3)

$$L[y] = y'' + p(t)y' + q(t)y = 0 (4)$$

We can attempt a solution of the more complicated equation (3) based on appropriately modifying the solutions of (4).

$$L[y] = y'' + p(t)y' + q(t)y = g(t)$$
 (3)

$$L[y] = y'' + p(t)y' + q(t)y = 0$$
 (4)

We can attempt a solution of the more complicated equation (3) based on appropriately modifying the solutions of (4).

The general solution of (4) is of the form  $c_1y_1 + c_2y_2$  where  $c_1$  and  $c_2$  are constants.

$$L[y] = y'' + p(t)y' + q(t)y = g(t)$$
 (3)

$$L[y] = y'' + p(t)y' + q(t)y = 0$$
 (4)

We can attempt a solution of the more complicated equation (3) based on appropriately modifying the solutions of (4).

The general solution of (4) is of the form  $c_1y_1 + c_2y_2$  where  $c_1$  and  $c_2$  are constants. What if we let  $c_{1,2}$  be functions of t?

$$y'' + p(t)y' + q(t)y = g(t)$$
 (5)

$$y'' + p(t)y' + q(t)y = g(t)$$
 (5)

$$Y = u_1(t)y_1(t) + u_2(t)y_2(t)$$

$$y'' + p(t)y' + q(t)y = g(t)$$
 (5)

$$Y = u_1(t)y_1(t) + u_2(t)y_2(t)$$

with  $u_1$  and  $u_2$  to be chosen later, in such a way that Y satisfies (5).

$$y'' + p(t)y' + q(t)y = g(t)$$
 (5)

$$Y = u_1(t)y_1(t) + u_2(t)y_2(t)$$

with  $u_1$  and  $u_2$  to be chosen later, in such a way that Y satisfies (5). We note however that we have one differential equation (5) and two unknowns  $u_1$  and  $u_2$ .

$$y'' + p(t)y' + q(t)y = g(t)$$
 (5)

$$Y = u_1(t)y_1(t) + u_2(t)y_2(t)$$

with  $u_1$  and  $u_2$  to be chosen later, in such a way that Y satisfies (5). We note however that we have one differential equation (5) and two unknowns  $u_1$  and  $u_2$ .

This can be used to our advantage, in selecting a relation between  $u_1$  and  $u_2$  that simplifies the calculations.

$$y'' + p(t)y' + q(t)y = g(t)$$
  
 
$$Y(t) = u_1(t)y_1(t) + u_2(t)y_2(t)$$

$$y'' + p(t)y' + q(t)y = g(t)$$
  
 
$$Y(t) = u_1(t)y_1(t) + u_2(t)y_2(t)$$

Thus: 
$$Y' = u_1'y_1 + u_1y_1' + u_2'y_2 + u_2y_2'$$

$$y'' + p(t)y' + q(t)y = g(t)$$
  
 
$$Y(t) = u_1(t)y_1(t) + u_2(t)y_2(t)$$

$$y'' + p(t)y' + q(t)y = g(t)$$
  
 
$$Y(t) = u_1(t)y_1(t) + u_2(t)y_2(t)$$

$$u_1'y_1 + u_2'y_2 = 0$$

$$y'' + p(t)y' + q(t)y = g(t)$$
  
 
$$Y(t) = u_1(t)y_1(t) + u_2(t)y_2(t)$$

$$u_1'y_1 + u_2'y_2 = 0$$

We remember this constraint for later.

$$y'' + p(t)y' + q(t)y = g(t)$$
  
 
$$Y(t) = u_1(t)y_1(t) + u_2(t)y_2(t)$$

$$u_1'y_1 + u_2'y_2 = 0$$

We remember this constraint for later. Therefore,

$$y'' + p(t)y' + q(t)y = g(t)$$
  
 
$$Y(t) = u_1(t)y_1(t) + u_2(t)y_2(t)$$

$$u_1'y_1 + u_2'y_2 = 0$$

We remember this constraint for later. Therefore,

$$Y' = u_1 y_1' + u_2 y_2'$$

$$Y' = u_1 y_1' + u_2 y_2';$$

$$Y' = u_1 y_1' + u_2 y_2'; \quad u_1' y_1 + u_2' y_2 = 0$$

$$Y' = u_1 y_1' + u_2 y_2'; \quad u_1' y_1 + u_2' y_2 = 0$$

$$Y'' = u_1'y_1' + u_1y_1'' + u_2'y_2' + u_2y_2''$$

$$Y' = u_1 y_1' + u_2 y_2'; \quad u_1' y_1 + u_2' y_2 = 0$$

$$Y'' = u_1'y_1' + u_1y_1'' + u_2'y_2' + u_2y_2''$$

$$g(t) = Y'' + p(t)Y' + q(t)Y = u_1y_1' + u_1y_1'' + u_2y_2''$$

$$Y' = u_1 y_1' + u_2 y_2'; \quad u_1' y_1 + u_2' y_2 = 0$$

$$Y'' = u_1'y_1' + u_1y_1'' + u_2'y_2' + u_2y_2''$$

$$g(t) = Y'' + p(t)Y' + q(t)Y = u_1'y_1' + u_1y_1'' + u_2'y_2' + u_2y_2''$$

$$+ p(t)(u_1y_1' + u_2y_2')$$

$$Y' = u_1 y_1' + u_2 y_2'; \quad u_1' y_1 + u_2' y_2 = 0$$

$$Y'' = u_1'y_1' + u_1y_1'' + u_2'y_2' + u_2y_2''$$

$$g(t) = Y'' + p(t)Y' + q(t)Y = u_1'y_1' + u_1y_1'' + u_2'y_2' + u_2y_2''$$

$$+ p(t)(u_1y_1' + u_2y_2') + q(t)(u_1(t)y_1(t) + u_2(t)y_2(t))$$

$$Y' = u_1 y_1' + u_2 y_2'; \quad u_1' y_1 + u_2' y_2 = 0$$

$$Y'' = u_1'y_1' + u_1y_1'' + u_2'y_2' + u_2y_2''$$

$$g(t) = Y'' + p(t)Y' + q(t)Y = u_1'y_1' + u_1y_1'' + u_2'y_2' + u_2y_2''$$

$$+ p(t)(u_1y_1' + u_2y_2') + q(t)(u_1(t)y_1(t) + u_2(t)y_2(t))$$

$$= u_1(y_1'' + p(t)y_1' + q(t)y_1) + u_2(y_2'' + p(t)y_2' + q(t)y_2)$$

$$Y' = u_1 y_1' + u_2 y_2'; \quad u_1' y_1 + u_2' y_2 = 0$$

$$Y'' = u_1'y_1' + u_1y_1'' + u_2'y_2' + u_2y_2''$$

$$g(t) = Y'' + p(t)Y' + q(t)Y = u_1'y_1' + u_1y_1'' + u_2'y_2' + u_2y_2''$$

$$+ p(t)(u_1y_1' + u_2y_2') + q(t)(u_1(t)y_1(t) + u_2(t)y_2(t))$$

$$= u_1(y_1'' + p(t)y_1' + q(t)y_1) + u_2(y_2'' + p(t)y_2' + q(t)y_2)$$

$$+ u_1'y_1' + u_2'y_2' = u_1'y_1' + u_2'y_2' = g(t) ! (6)$$

$$u_1'y_1' + u_2'y_2' = g(t)$$

$$u'_1y'_1 + u'_2y'_2 = g(t)$$
  $u'_1y_1 + u'_2y_2 = 0$  previous choice of  $u_{1,2}$ 

$$u'_1y'_1 + u'_2y'_2 = g(t)$$
  $u'_1y_1 + u'_2y_2 = 0$  previous choice of  $u_{1,2}$ 

Thus

#### Thus, we get the simpler system

$$u_1'y_1' + u_2'y_2' = g(t)$$
  $u_1'y_1 + u_2'y_2 = 0$  previous choice of  $u_{1,2}$ 

Thus

$$u_2' = -u_1' y_1 / y_2$$

$$u_1'y_1' + (-u_1'y_1/y_2)y_2' = g$$

#### Thus, we get the simpler system

$$u_1'y_1' + u_2'y_2' = g(t)$$
  $u_1'y_1 + u_2'y_2 = 0$  previous choice of  $u_{1,2}$ 

Thus

$$u_2' = -u_1' y_1 / y_2$$

$$u_1'y_1' + (-u_1'y_1/y_2)y_2' = g$$

$$u_1'y_1' + (-u_1'y_1/y_2)y_2' = g$$

$$u_1'y_1' + (-u_1'y_1/y_2)y_2' = g \quad u_1'(y_1' - y_2'y_1/y_2) = g$$

$$u'_1y'_1 + (-u'_1y_1/y_2)y'_2 = g \quad u'_1(y'_1 - y'_2y_1/y_2) = g$$
thus 
$$u'_1 \frac{y_2y'_1 - y'_2y_1}{y_2} = g$$

$$u'_1y'_1 + (-u'_1y_1/y_2)y'_2 = g \quad u'_1(y'_1 - y'_2y_1/y_2) = g$$
thus 
$$u'_1 \frac{y_2y'_1 - y'_2y_1}{y_2} = g \quad u'_1 = -\frac{g(t)y_2(t)}{y_1y'_2 - y'_1y_2}$$

$$u'_{1}y'_{1} + (-u'_{1}y_{1}/y_{2})y'_{2} = g \quad u'_{1}(y'_{1} - y'_{2}y_{1}/y_{2}) = g$$
thus 
$$u'_{1}\frac{y_{2}y'_{1} - y'_{2}y_{1}}{y_{2}} = g \quad u'_{1} = -\frac{g(t)y_{2}(t)}{y_{1}y'_{2} - y'_{1}y_{2}}$$

$$u'_{1} = -\frac{g(t)y_{2}(t)}{W[y_{1}, y_{2}]}$$

$$u'_{1}y'_{1} + (-u'_{1}y_{1}/y_{2})y'_{2} = g \quad u'_{1}(y'_{1} - y'_{2}y_{1}/y_{2}) = g$$
thus  $u'_{1}\frac{y_{2}y'_{1} - y'_{2}y_{1}}{y_{2}} = g \quad u'_{1} = -\frac{g(t)y_{2}(t)}{y_{1}y'_{2} - y'_{1}y_{2}}$ 

$$u'_{1} = -\frac{g(t)y_{2}(t)}{W[y_{1}, y_{2}]} \quad \text{Similarly}$$

$$u'_{1}y'_{1} + (-u'_{1}y_{1}/y_{2})y'_{2} = g \quad u'_{1}(y'_{1} - y'_{2}y_{1}/y_{2}) = g$$
thus  $u'_{1}\frac{y_{2}y'_{1} - y'_{2}y_{1}}{y_{2}} = g \quad u'_{1} = -\frac{g(t)y_{2}(t)}{y_{1}y'_{2} - y'_{1}y_{2}}$ 

$$u'_{1} = -\frac{g(t)y_{2}(t)}{W[y_{1}, y_{2}]} \quad \text{Similarly} \quad u'_{2} = \frac{g(t)y_{1}(t)}{W[y_{1}, y_{2}]} \tag{7}$$

$$u'_1 = -\frac{g(t)y_2(t)}{W[y_1, y_2]}$$

$$u'_1 = -\frac{g(t)y_2(t)}{W[y_1, y_2]}$$
 and

$$u'_1 = -\frac{g(t)y_2(t)}{W[y_1, y_2]}$$
 and  $u'_2 = \frac{g(t)y_1(t)}{W[y_1, y_2]}$ 

$$u'_1 = -\frac{g(t)y_2(t)}{W[y_1, y_2]}$$
 and  $u'_2 = \frac{g(t)y_1(t)}{W[y_1, y_2]}$ 

$$u_1 = -\int \frac{g(t)y_2(t)}{W[y_1, y_2]} dt + c_1$$

$$u'_1 = -\frac{g(t)y_2(t)}{W[y_1, y_2]}$$
 and  $u'_2 = \frac{g(t)y_1(t)}{W[y_1, y_2]}$ 

$$u_1 = -\int \frac{g(t)y_2(t)}{W[y_1, y_2]} dt + c_1$$
 and

$$u'_1 = -\frac{g(t)y_2(t)}{W[y_1, y_2]}$$
 and  $u'_2 = \frac{g(t)y_1(t)}{W[y_1, y_2]}$ 

$$u_1 = -\int \frac{g(t)y_2(t)}{W[y_1, y_2]} dt + c_1$$
 and  $u_2 = \int \frac{g(t)y_1(t)}{W[y_1, y_2]} dt + c_2$ 

But we had

$$u'_1 = -\frac{g(t)y_2(t)}{W[y_1, y_2]}$$
 and  $u'_2 = \frac{g(t)y_1(t)}{W[y_1, y_2]}$ 

$$u_1 = -\int \frac{g(t)y_2(t)}{W[y_1, y_2]} dt + c_1$$
 and  $u_2 = \int \frac{g(t)y_1(t)}{W[y_1, y_2]} dt + c_2$ 

But we had  $Y = u_1y_1 + u_2y_2$  So

$$u'_1 = -\frac{g(t)y_2(t)}{W[y_1, y_2]}$$
 and  $u'_2 = \frac{g(t)y_1(t)}{W[y_1, y_2]}$ 

$$u_1 = -\int \frac{g(t)y_2(t)}{W[y_1, y_2]} dt + c_1$$
 and  $u_2 = \int \frac{g(t)y_1(t)}{W[y_1, y_2]} dt + c_2$ 

But we had  $Y = u_1y_1 + u_2y_2$  So

$$Y = -y_1 \int \frac{g(t)y_2(t)}{W[y_1, y_2]} dt + y_2 \int \frac{g(t)y_1(t)}{W[y_1, y_2]} dt + c_1 y_1 + c_2 y_2$$
(8)

$$Y = -y_1 \int \frac{g(t)y_2(t)}{W[y_1, y_2]} dt + y_2 \int \frac{g(t)y_1(t)}{W[y_1, y_2]} dt + c_1 y_1 + c_2 y_2$$
(9)

$$y'' + y = \tan x$$
; homog. eq.:  $y'' + y = 0$ 

$$y_1 = \sin t;$$
  $y_2 = \cos t \pmod{nonhom} = g(t) = \tan t$ 

$$W[y_1, y_2] = \begin{vmatrix} \sin t & \cos t \\ \cos t & -\sin t \end{vmatrix} = -1$$

$$y_1 = \sin t$$
;  $y_2 = \cos t$  (nonhom.  $= g(t) = \tan t$ )
$$W[y_1, y_2] = \begin{vmatrix} \sin t & \cos t \\ \cos t & -\sin t \end{vmatrix} = -1 (10)$$

Particular solution of the nonhomogeneous equation

$$y_1 = \sin t$$
;  $y_2 = \cos t$  (nonhom. =  $g(t) = \tan t$ )
$$W[y_1, y_2] = \begin{vmatrix} \sin t & \cos t \\ \cos t & -\sin t \end{vmatrix} = -1 (10)$$

Particular solution of the nonhomogeneous equation

$$Y = -y_1 \int \frac{g(t)y_2(t)}{W[y_1, y_2]} dt + y_2 \int \frac{g(t)y_1(t)}{W[y_1, y_2]} dt$$

$$= \sin t \int \cos t \frac{\sin t}{\cos t} dt - \cos t \int \sin t \frac{\sin t}{\cos t} dt$$
 (11)

$$\sin t \int \cos t \frac{\sin t}{\cos t} dt - \cos t \int \sin t \frac{\sin t}{\cos t} dt$$

$$= \sin t \int \sin t dt - \cos t \int \frac{\sin^2 t}{\cos t} dt$$

$$\sin t \int \cos t \frac{\sin t}{\cos t} dt - \cos t \int \sin t \frac{\sin t}{\cos t} dt$$

$$= \sin t \int \sin t dt - \cos t \int \frac{\sin^2 t}{\cos t} dt$$

$$= -\sin t \cos t - \cos t \int \frac{1 - \cos^2 t}{\cos t} dt$$

$$\sin t \int \cos t \frac{\sin t}{\cos t} dt - \cos t \int \sin t \frac{\sin t}{\cos t} dt$$

$$= \sin t \int \sin t dt - \cos t \int \frac{\sin^2 t}{\cos t} dt$$

$$= -\sin t \cos t - \cos t \int \frac{1 - \cos^2 t}{\cos t} dt$$

$$= -\sin t \cos t + \cos t \sin t - \cos t \int \sec t dt$$

$$\sin t \int \cos t \frac{\sin t}{\cos t} dt - \cos t \int \sin t \frac{\sin t}{\cos t} dt$$

$$= \sin t \int \sin t dt - \cos t \int \frac{\sin^2 t}{\cos t} dt$$

$$= -\sin t \cos t - \cos t \int \frac{1 - \cos^2 t}{\cos t} dt$$

$$= -\sin t \cos t + \cos t \sin t - \cos t \int \sec t dt$$

$$= -\cos t \ln(\sec t + \tan t)$$

(12)

$$-\cos t \ln(\sec t + \tan t) \tag{13}$$

$$-\cos t \ln(\sec t + \tan t) \tag{13}$$

and for general solution add  $c_1y_1 + c_2y_2$  to it, in this example

$$-\cos t \ln(\sec t + \tan t) \tag{13}$$

and for general solution add  $c_1y_1 + c_2y_2$  to it, in this example

$$A\sin t + B\cos t - \cos t \ln(\sec t + \tan t) \tag{14}$$

$$y'' - y = e^y$$
;  $y(0) = 0$   $y'(0) = 1$ 

$$y'' - y = e^y$$
;  $y(0) = 0$   $y'(0) = 1$ 

homogeneous equation:  $y'' - y \Rightarrow y_1 = e^x$ ,  $y_2 = e^{-x}$ 

$$y'' - y = e^y$$
;  $y(0) = 0$   $y'(0) = 1$ 

homogeneous equation:  $y'' - y \Rightarrow y_1 = e^x$ ,  $y_2 = e^{-x}$   $W[y_1, y_2] = \begin{vmatrix} e^x & e^{-x} \\ e^x & -e^{-x} \end{vmatrix} = -2$ 

## Example 2

$$y'' - y = e^y$$
;  $y(0) = 0$   $y'(0) = 1$ 

homogeneous equation:  $y'' - y \Rightarrow y_1 = e^x$ ,  $y_2 = e^{-x}$ 

$$W[y_1, y_2] = \begin{vmatrix} e^x & e^{-x} \\ e^x & -e^{-x} \end{vmatrix} = -2$$

Particular solution

## Example 2

$$y'' - y = e^y$$
;  $y(0) = 0$   $y'(0) = 1$ 

homogeneous equation:  $y'' - y \Rightarrow y_1 = e^x$ ,  $y_2 = e^{-x}$ 

$$W[y_1, y_2] = \begin{vmatrix} e^x & e^{-x} \\ e^x & -e^{-x} \end{vmatrix} = -2$$

Particular solution

$$Y = -y_1 \int \frac{g(t)y_2(t)}{W[y_1, y_2]} dt + y_2 \int \frac{g(t)y_1(t)}{W[y_1, y_2]} dt$$

## Example 2

$$y'' - y = e^y$$
;  $y(0) = 0$   $y'(0) = 1$ 

homogeneous equation:  $y'' - y \Rightarrow y_1 = e^x$ ,  $y_2 = e^{-x}$ 

$$W[y_1, y_2] = \begin{vmatrix} e^x & e^{-x} \\ e^x & -e^{-x} \end{vmatrix} = -2$$

Particular solution

$$Y = -y_1 \int \frac{g(t)y_2(t)}{W[y_1, y_2]} dt + y_2 \int \frac{g(t)y_1(t)}{W[y_1, y_2]} dt$$

$$Y = -y_1 \int \frac{g(t)y_2(t)}{W[y_1, y_2]} dt + y_2 \int \frac{g(t)y_1(t)}{W[y_1, y_2]} dt$$

$$Y = -y_1 \int \frac{g(t)y_2(t)}{W[y_1, y_2]} dt + y_2 \int \frac{g(t)y_1(t)}{W[y_1, y_2]} dt$$
$$= \frac{1}{2} e^x \int e^{-x} e^x dx - \frac{1}{2} e^{-x} \int e^x e^x dx$$

$$= \frac{1}{2}e^{x} \int e^{-x}e^{x}dx - \frac{1}{2}e^{-x} \int e^{x}e^{x}dx$$
$$= \frac{1}{2}xe^{x} - \frac{1}{4}e^{-x}e^{2x}$$

$$= \frac{1}{2}e^{x} \int e^{-x}e^{x}dx - \frac{1}{2}e^{-x} \int e^{x}e^{x}dx$$
$$= \frac{1}{2}xe^{x} - \frac{1}{4}e^{-x}e^{2x}$$

General solution:

$$y = \frac{1}{2}xe^{x} + c_{1}e^{x} + c_{2}e^{-x}$$

Now we have to impose y(0) = 0, y'(0) = 1

$$= \frac{1}{2}e^{x} \int e^{-x}e^{x}dx - \frac{1}{2}e^{-x} \int e^{x}e^{x}dx$$
$$= \frac{1}{2}xe^{x} - \frac{1}{4}e^{-x}e^{2x}$$

General solution:

$$y = \frac{1}{2}xe^{x} + c_{1}e^{x} + c_{2}e^{-x}$$

Now we have to impose y(0) = 0, y'(0) = 1,

$$c_1 + c_2 = 0 \Rightarrow c_2 = -c_1$$

$$= \frac{1}{2}e^{x} \int e^{-x}e^{x}dx - \frac{1}{2}e^{-x} \int e^{x}e^{x}dx$$
$$= \frac{1}{2}xe^{x} - \frac{1}{4}e^{-x}e^{2x}$$

General solution:

$$y = \frac{1}{2}xe^{x} + c_{1}e^{x} + c_{2}e^{-x}$$

Now we have to impose y(0) = 0, y'(0) = 1,

$$c_1 + c_2 = 0 \Rightarrow c_2 = -c_1$$

$$\frac{1}{2} + c_1 - c_2 = 1$$

$$\frac{1}{2} + c_1 - c_2 = 1$$

$$\frac{1}{2} + 2c_1 = 1$$

$$\frac{1}{2} + c_1 - c_2 = 1$$

$$\frac{1}{2} + 2c_1 = 1$$

$$c_1 = \frac{1}{4}, \quad c_2 = -\frac{1}{4}$$

$$\frac{1}{2} + c_1 - c_2 = 1$$

$$\frac{1}{2} + 2c_1 = 1$$

$$c_1 = \frac{1}{4}, \quad c_2 = -\frac{1}{4}$$

$$y = \frac{1}{2}xe^x + \frac{1}{4}e^x - \frac{1}{4}e^{-x}$$